PaN 6 = =
(ST FE4AR 1 BN FITEIAIHET)

(B 1)
¥ B SHSEE SH6EE 1R
I —RRIERREAFEIZIBODED
1. BEEROE
(1) BB
D ZmRE
EsB8 21,840,000 21,720,000 A 120,000
=yiUEg = 1,920,000 1,920,000 0
SHREER 23,760,000 23,640,000 A 120,000
@ FHUEF 0
FEMREX 3,050,000 3,050,000 0
REHE 1,750,000 1,750,000 0
H AR 1,300,000 1,300,000 0
ZHELEE 0 0 0
T RAY-IT By sE LR EHIE 1,400,000 1,400,000 0
EE= 5,880,000 5,880,000 0
HifiEE < 5,880,000 5,880,000 0
LEREX 0 0 0
ERINIEE 10,330,000 10,330,000 0
@ MR 0
ZEFR 0 0 0
ZDfh 20,000 20,000 0
HURAEET 20,000 20,000 0
Bt 34,110,000 33,990,000 A 120,000
(2)BREEH 0
OEE3 - 0
REAREE 11,724,000 11,324,000 A 400,000
REMRE 6,930,000 6,530,000 A 400,000
H iR 4,794,000 4,794,000 0
ZHELEX 411,000 410,000 A 1,000
T RAWY) -V )R L EREHIE 1,607,000 1,607,000 0
BER 12,710,000 12,030,000 A 680,000
[L¥RE% 270,000 270,000 0
=S 8 26,722,000 25,641,000 A 1,081,000
QEBE 0
EEEL 7,307,000 8,290,000 983,000
BEERG 34,029,000 33,931,000 A 98,000
ST 15 4 <5 SR 22 AT HA IR E 1B AR 0
BRI = ka2 0
LEAREIERAE 81,000 59,000 A 22,000
2. BENEBEDE 0
(1) BEMNIREE 0
(2)BENER 0
LHRE S R 81,000 59,000 A 22,000
3. th=EHiIREEE 0
= B — A% IE R B EE LSRR 81,000 59,000 A 22,000




